F28LOEFI/N—UA FEATZRAKRE<LBFNDE> BUISX

B B TBR-&8 OU-)
2B A« KT (NFTT)
3 fiI TR - MR (EANZ)
(FE =) 30. 2. 11
B—1 R BE |=H - E5 | 2B - TR |85AK « 85K BN (=LA
R - 18F [(EwHits 6—23 0—6 1—1 3 -3
=FH ¢ 8 (7106 TC 3—6 6—5 1—1 2 —2
TR - MR |[EANZ 6—0 6—4 2—0 1
£ « 9K | BiES 5—6 4—6 0—2 4
B—2 STIR « Y [/WVK - 128 |83 « How B AN [N
STIR « Oft [EMSILS 2—6 6—1 1—1 2
INAK « 18 |9+ 75— 6—2 6—3 2—0 1
Y83 « DLW [fine shot 1—6 3—6 0—2 3
B—3 ez - NG oA - 658 |10 -2 | BN B
KSR - DOk [(Emsits 6-5 4-6 1-1 2
25K « BB |71 TC 5-6 5-6 0-2 3
tTH-sB|7U— 6-4 6-5 2-0 1
B—4 R s AW (Bl - XE |PE - BB B AN (=R
FaE - AW Bt S 6-4 4-6 1-1 2
B« KE|EANZ 4-6 5-6 0-2 3
Pk - BfE [wish TC 6-4 6-5 2-0 1
B—5 B 5K B8 DI [BEK -« KT SR (=}
BE - 54 e 26 56 02 3
58 - Zll |BE= 6-2 1-6 1-1 2
AN « ATRINFTT 6-5 6-1 2-0 1
KRB E—TFT AU~
TE MR 4
IR« 1EE 6
T - B8 (R
Pk - B
A« KT |§
3 R
Pk - B

TE-TA




F28L@EFIN—HA1 FBEATZRAKRE<LBFDE> CIUSR

B B Bih - &% RO 2ZB)

B 2l - 88 (NWTC)

3 fiI K« R (FSJ TC)

(EJ-D) 0. 2.

C—1 8K e 2L |55 - BB 85K - R | WE - B BEX [E]ivd
8K - 2[RRIt S 2—6 2—6 0—2 3
| . igE (nr=ozaAl 6—2 6—3 2—0 +7
#AA &R [FSU TC 6—2 6—0 2—0 +10
BT « WEBF [vF/\T— 3—6 0—6 0—2 4

c—2 S - 8L [#2F - 88 |BR - 27T B AN [E]iv
=i - Bt [HCT 5—6 5—6 0—2 3
2| - 188 [NWTC 6—5 6—2 2—0 1
BRIZ « #2351 (Wit o572 6—5 2—6 1—1 2

C—3 BID - 5% | DN - FUES |20 - &% EE B
BiP « 5% |INREZD 2B 6—3 6—2 2—0 1
Ft « FIEP [HCT 3—6 3—6 0—2 3
Pl-FZF |[TTC 2—6 6—3 1—1 2

C—4 S5 - 517|128 - 804 |[BA AR | BK &
S « B2 |7 V- - 5—6 2—6 0—2 3
18 « £5AK |ATC 6—5 3—6 1—1 2
SR« AR [EASD 6—2 6—3 2—0 1

MR R —TF XY~

2 - 188 5

S - BE 5 4

SV N NI ; 6
6

B - 2%




	2018-RR-B
	2018-RR-C

